HIGHER SECONDARY FIRST TERMINAL EXAMAINATION
PART- Il

CHEMISTRY

HSE - 11 Maximum ¢ 60 Scores

Time: 2 hours
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Ceneral Instructions to candidates:
¢ Thereis a'Cool offtime’ of 15 minures in addition to the writing time of 2 hours.
= TUsethe'cool offtime' to get familiar with questions and to plan your answers
»  Read the questions carefully before answering ,
+ Calculaticons, figures and giaphs should be shown in the answer sheet itself.
»  Malayalam version of the questions is also provided.
= (nveequations wherever necessary
+  Electronic devices except nonprogrammable calculators are not allowed in the Examination Hall,
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- Which method is used for the concentration of
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The number of atoms per unit cell of a bee lattice
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(i) Cu eneinons eyt

wentify the correct statement grven below
(iy Mgactas cathode

(i) i act as cathode (i)  emmuadommaces

{in} The cell reaction is Cu+ Mg —> Cu~+ Mg
Cu+Mg* - Cu~ + Mg

(iv) Cu is the oxidising agert. (iv) Cu sosaleocioosn)
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The process of settling of colloidal particle is
cailed ---=-mm=~-----
A solution is made by weighing 10g of NaCl
and adding 40g of water. This solution is
(i) 10% (w/w) (1) 20% (w/w)
(i) 25% (wiw) (v) 5% (w/w)

The rate constant of a reaction is
1.2x107° 5. The order of'the reaction is -----
Which of the following aqueous solutions
should have the highest boiling point?
(i) 1 M NaOH (ii) 1M Na,SO,
(i) IM NH,NO,  (iv) IM KNC,

The number of tetrahedral voids generated in
a close packed structure of 1000 spheres
1§ mmmmmmmm e e

Answer any 11 questions from 9-21. Each

2

e

question carvies 2 score

(11 x2=22)

The conductivity of 0.20 M sclution of KC1
at 298 Kis 0.02485cm. Calculate its molar
conductiviy.

State Henry's law and give one of its
applications.

What are pseudo first order reactions? Give
example.

When sodiumn chioride 1s heated in presence
of sedium, the crystals acquire yellow colour.
Give reason.

Write any two differences between
physisorption 2nd chegisorption.

A sokid substance has fec unit cells. in which
atoms of element A occupy corners of unit
celi. Atomsofelement B occupy face centers
of the unit cell. Find the formula of the
substance.
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(1i1) 25% (w/w)  (1v) 3% {(w/w)

§0) DOTVIUBGMMOET IO ¢0F quiloom

e 1.2x107 ¢ @ winidommanlna

BI3WE ABEDT e

MINY DN BlE6) TN ARy 2Rl
epTMIsncen 2wdar @lamieie)sae)?
(i) 1 M NaOH (1) 1M Na, 50,

(1) IM NH NG, (iv) 1M KNGO,

1000 €NIFIBBZBB 20 GHOMN  aldDasiol

cIsmud 0)al1®ele06q]5;0D §5(50an]
LB Grunayin)

Q

DBIOS ARETREOONT wrvaenervsssrensionrsss

9 MMI} 21 AUNTWIBH oFHD®ELILLC 11 CalIGY

F3BUIHS) DOMOHDLIM) . 632CDT CaldaiEMINo

BEITE AVE@IB aficno

9.

10.

(AN

12,

13,

4.

(il x 2 =22)
0.20 M KCI enoxmioes s.eoeassialg
298K @ 0.02485cm™ anan. @omiend
G2O80Q BHABSSINND HiMEDVRH dh.
9and0] MinZo LTSI a] @EMBGE ofO®
gpleo §0) LalGEdWs af)@YM)ds.

TUNEALY A0qY B0BWE  Lludom memasd
AQTDINEINN T B30ADTEIIAF G .
ErUdWIRe GHISHOALIDM CTROWHLODISHG
roMBLLFNNGE 2509 EOUID MBI UWBEE
2eoml0o eiEl@naM). EOEMENAT;?

A SETUodGatmle BdEleIodatimio el
ENBB aROMERIEN0 DENE QLD LOTVEEBUD j)¥)
NG,

80} suoalzodmnamkn fee @Emlg oTuene
BoeMBA®. WOIGE A )V 2)EIA0m IO
@QEBR WG eavelaag ariesiesTy.
B apon ajeisomlen - anganed  w)amlg
HaVeliong 2360 Gd LB w8 Sl 2t0am 38 o).
alBOBMOTNGD  FOY OGN0 SHEEBOID ).

17- Chemisiry - 2/8

2017 - August



16.

o
A
h

19,
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The schematic representation of the magnetic
moments of two substauces are given below,
Identify the type of magnetism and give one
example each for them.

(1) PTTTTY

Consider the decomposition reaction given

below,

2HI{g) — H () +1i (g)

{a} The rate of appearance of hvdrogen is
equal to -----------times the rate of
‘disappearance of HIL

{b) Write the ditfarential rate expression of
tins reaction with respect to the reactant.

Mame the law used 1o determine the degree
I

of dissociation of weak eiscirolvtes at infinite

dilution, Siatetheiaw

The firct order reaction has a rate constant
1.15 x107sF,

reactant take to reduce to 3g.

How long will Sg of this

-

Write the iwo requirements of vapour nhase

refning,

Rusting of iton s an example for corrosion.
Give reason why the rusting of irea is
quicker in saline water than ordinary
water.

Write the importance of Ellingham diagram in
metallurgical process.

Answer any 6 questions from 22-39%, Each

question carries 3 score

22,

(6x3=18)

A muxture of chiorofonm and acctone does

not obeyv Raouit's faw under all

congrions.
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24,

29,

(a) 1dentifvthetype of deviation and give reason

for such behavior, D
(b) Represent this deviation using a vapour
pressure - composition curve. (2)

Explain the following in metallurgical process

a. Zonerefining (H
b. Dastillation (1)
c. Liquation. (1)

Explain the three types of electrical
conductivity i solids based on band theory.

Two electrodes A and B have standard
electrode potential of -0.76 V and 0 34V
respectively.

a) Identify the oxidation and reduction

electrodes, if they are coupled to form a cell.

D

pa

b) Find the standard cel! potential of the cell

forined. (2)

Commercial cells can be classified into
primary cells and secondary cells. Explain
them by giving one example each.

Explain calcination and roasting involved in
the isolation of metals fiom concentrated ore?
Give ong example tor each with balanced
equations.

Draw the diagram of Daniel cell and write
the electrode reactions.

What are Azeotropes? Explain the different
types of Azeotropes.
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Answer any 3 questions from 30-33. Each
question carries 4 score B3x4=12)

30. () Write Arrhenius equation and explain the terms
init. - 2)
(b) The rate constant of a reaction doubles when
temperature 1s raised from 300K to 310K.
Calculate activation energy.
(R=8.314JK"'mol?) 2)

31. Sometimes abnormal values are obtained
while molar mass of a non-volatile
solute is determined using colligative
properties.

(a) Write the possible reasons for the abnormal
values of molar masses with suitable
examples. 2)

(b) Define van't Hofffactor and write the modified
equation of any one colligative property
incorporating van't Hoff factor. (2)

132, {a) Explain different tnges of catalysis by gfving

suitable example. (2)
() Explain any two characteristics of enzyme
catalysis. 2)

$3.  Which is the chief ore of Aluminium? Explain
the van'ods stages used for concentration of
ore of Aluminium.
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